13541 AT ENLIM L M

13 & 4 WE & VF R LK AR
TR de MROAT GE ML M AT Mk SR
m & ik . % %W A AT
PL5E 4 5 3 i G0 s oy — fE

(I I TR Al S|
IP68 . 1 Ik &L B8R & H 46
BE— JF MO, B b S R 2 AT
K I P69K MK F. R & A
i fB b 2 m % % 25 g /
10-2000Hz M100g (8 —

ML)
M MR o2 R OH AE B
filh QRGBT W OE R . M
NI T oA A
LN = W A =N < R - S R o
(ERIO IR 2 1R R | 2 [ v 4
A g E 7 ¥, T H Re
B BT TOE B B OW R iR
%, kA E M W E ML AT
1 4E
br HE B kg
TR e L
i FiL /P YA i
W &= % 3E BN
o HE R <500mm =#0.10mm, 700mm =£0. 18mm, 1000mm =+0.24mm
1250mm £0.30mm, 1750mm =£0. 42mm
oA WEMAEMK < £0.005%
Ak 2 WEBEMN < £0.04% Gx/D£100um, 60mm J5 3t X)
WEMEN < £0.08% (36.5mm J5 4t X)
A A= +12V/24Vdc
i N R P Wk 2-30Vde, KR E36Vdce
A H = 1w
4% 8 E 500Vde (DC 3 35 % HL 5 2 3 )
T fE W = -4 0%E85C,#E EI0%, K fit s
7 4 % % IP68 (IP69K 72 h& 7E ¥R & il 1, 7M1 28 Sk i 42
& & 18 b5 25g/10-2000Hz / TECkR#E68-2-6
o fE b 100g (B —phiy) / IECKRHE68-2-27 (it A1)
EMC il ik J EN61000-6-3, FiiPt EN61000-6-2, EN61000-4-2/3/4/6
i JE SR 2 B AE IR L I SA350bar /600bar (5 {E)
4h 5% B Kk AN 25 5 1

WWw . WEABU . COM




K
IIIF

fi

011 = 0.25 - 4.75V 101 = 4 - 20mA

012 = 0.5 - 4.5V 104 = 20 - 4mA

013 = 4.75 - 0.25V

014 = 4.5 - 0.5V

i 3% %

N A=4 Bk, Tunik
N E =4 #2, M12x1 IP69KH e, 441 (5] {140 i 2-3-4)
N G =4 #sk, M12x1 IP69KHEJE, 44t (51 14> il 1-3-4) 4 L T i B
N H=4 Bk, M12x1 IP69KHH Hs, 44t (51 20 BL 1-2-3)
] F: 06 = 60mmZk
25 = 250mm&k

T A= 4Bk, o
B F: 10 = 1. 0k 2k
35 = 3. 5K

& N KT

1= 10mm HEARENFF, J54EX60mm
2 = 10mm BHAEENAF, JEIEIX36. 5mm
3= 7mm BHAAZREMNAT, JEIEX60mn

4 A5 R i 2 T B

'

H A7 E (nm) IP6IK M12x1 4 Fis
0075, 0100, 0125, 0150, 0175, 0200, 0225

0250, 0275, 0300, 0325, 0350, 0375, 0400

0425, 0450 (LL)5®25mmif 4)

WO R K f
1 = #M£33mm, N 1%213. 5mm 3 R ik _
(4

2 = 4ME25. 4mm, N 4213, 5mm IR Gk
3 = AMELT. Amm, WAR13. Smm 31 JF 0 8k

N E N G N H i 2% B T A N A
1 A +24V HYR  +24V HJE [ +24V HYR  +24V HJH
(2 1) 2 424V HIE A i 3 i f
e e 3 0V dc 0V dc 0V dc " AN AN
4 it ANz =} 0V dc 0V dc
AEFM 12 4 J3E
(B8 1) £ JaK 3% Sk 44 A2 7 1))

WWw . WEABU . COM




13541 AT ENLIM L M

IR HE M

= &
==
BB =
s do

>
#

HE N E
Ik & 1 E

A A
N R
AW

%4 % e T

T fE &
B 4 2%
& & 15 br
U T R

EMC il it

ik 5 E
bk 58 ¥ K

f& /& % E

6 0
©® 0

AEFM 1 2 4 i
(1) A U 5% Sk 47 2 7 1))

S R S R

N E
Ao
+24V HLJH
0V dc
i H

13M
Direct CANopen or CAN J1939
HE& A

<500mm =£0.10mm, 750mm =+£0. 10mm, 1000mm 0. 10mm
1250mm 0. 10mm, 1750mm =£0. 10mm
WEMBEK < £0.005%
WEMEK < £0.04% (F/N£100mm)
WERMM < £0.005%

+12V/24Vdc
WeE R 2£-30Vde, FEMHIE36Vde
1w
500Vdc (DC H 3 X A1 2% 122 4 5i)

-4 058 5C, 1 FI90%, A ft 4 &
IP68 (IP69K™ 22 34 75 Y J& T Y, oM 1 243 3k i 48
25g/10-2000Hz / IECKR #68-2-6
100g (P —phiy) / TECKR#E68-2-27 (fiif A1)

S EN61000-6-3, Hith EN61000-6-2, EN61000-4-2/3/4/6

22 BEE IR L N B 9350bar /600bar (14 14H)
AN ARG 2 % i

N_G N _H
+24V HLJE +24V HE
Nz i H
0V dc 0V dc
i Nz

WWw . WEABU . COM




K B

i

C01 = CANOpen

JO1 = SAE J1939

1% iy S

0 =1000 kBit/s 4 =150 kBit/s
1 =800 kBit/s 6 =50 kBit/s
2 =500 kBit/s 7 =20 kBit/s
3 =250 kBit/s 8 =10 kBit/s
vl oS Hb ok

CANOpen: hex 01 #| 7F (Fii% 7F)
J1939: hex 01 ¥ 7F (W# 7F)
M

N__A =4 B2k, Joumdk

N E =4 Bz, M12x1 IP69KHE JE, 4%t (5] 4y fid 2-3-4)
N G=4 Bk, M12x1 IP69KHHHs, 44t (51 20 BL 1-3-4)
N H=4 8%, M12x1 TP69KHHJEE, 4%F (5] B4 1-2-3)

BF: 06 = 60mmzk

25 = 250mmZk

T A=4Shwksd, L%
Bl F: 10 = 1. 0Kk

35 = 3. 5K

& LK

IIIF

10mm B A2, J&AEIX60mm
10mm EAZRKMNFF, JFHEIX36. 5mm
3= 7mm BHAZEMNAT, JEIEX60mn

RS

1 = 4M%£33mm, W4£13. 5mm ¥ JE W62k
2 = HME25. Amm, W 4213, 5mm PR fl Bk
3 = AMR17. 4mm, NAE13. Smm BRI R 4k

A AT R (nm)

0075, 0100, 0125, 0150, 0175,0200, 0225
0250, 0275, 0300, 0325, 0350, 0375, 0400
0425, 0450 (LJ5E25mmif 1)

Www _WEABU . COM




13541 AT ENLIM L M

ah 7 R~
30 B AT 12 60
(36.5)
11.5
23
; | |
0 o
< &
0
i i L 7mm/10mm B42 & B AT L
024 -
2] (B A7 PAmm)
30 —~

M5x10mm [ & W28 22
H1770. 5Nm MI2x 1 77«
~ 10

= .

I []

e Y
J [k

P
BN

J—‘« 16 H8

i

L~ 044

O
®u

e >15 —=]

21

1) A A4k 25 Tl wi ek
2) A B 3% SR AT (10mm) (19 B /NEG FLR. 13, Smm
3) 1 B 45 IR N R A R ity 5 A 0 RS 358 2 TR) &5 /b B BE AN > T3 mmi TR] B

WWw . WEABU . COM






